Jod.gbbouooobdgoogn

ugboogood oUd 4O 4oOooOoob OO0OO

g o0ooo

b 250 110300000 4000000eP2.500000000000O00O0OOOOODOOOOOO
00000000 4000500 127y 0/0°000000000000000000000O0ODOO0OO0
0000000000000000000000000000000000000000000O35u 0/0°%0
gobooboooboboobooobobooboobbooboobbooooobobooon

g oboogo
gboboooboooooooooboooooooooobooobooooooooboobobobL@m O
gobodbooboooboobobooboobbooboobbd1ct 2300110600000 DOn
obmooooo™@oobomooobobobobobobo M2 50b0b0ObD0ODODbODODbDOD
o oo

gigpem2.50000000000000

O000PM2.500000000 110300005400 45p0/00 0000000010
gogpv2.5000000000

gbooboboobboooboooobooooboooob 1002000000000 1o 3b0boboboon
gobodboooobooboboooboobobooboobboobuoobbooboobobooboon
2000 2000000000000 O0O00O0OO0O0OOOOsbubOobobOOobooOn
gbobobobobooooboooooo

gboboob 100 s52000b0o00bbooboobboolnngo3n1vygg4bo300boonooon
gooboooboooooon

goboodgboooon

goobp2500000000011030160000000000 1,500000000BOO0O0OO
gobodbooooboobooooboobbooboboobooboboobooobooboooboon
gsggbouogbboobudgboobbooboobbooooab
O000PM2.500000110 30160 71y 0/0°00000000000000000 In/sO0O0ODO
00000000 100310000e60ppb0O00000C00000ODOOODOOOODOOODODODOOOOODO
gboboodboooobooboooobooboooboobobooo suobooooobooboon

g o0odd

11030 bogbooooboobmobobooboobobooboobooboobboobobooboon
goboodboooobooboooobooboboobuoobobooboobooboobooboooobooan
gbobodbobooobuoobbooobuoobboobuoobbooboobo
gbobobooboboooboooboomoobobooboboobobobobobobobobOoDo
goboobooobooboooobooboboobooboe250000b0o0boonoboobon
gogopw2.50000000000000000000O00O00O0O00O0DOD0OO0ODOODOODODODODO
goboobooboboboboboboboboboboboboboboboboboboboboboo
00000000000000000 0/00 000000000 0.2(17/76 00O/0)H00000O00O0O
obobobob o203 o.stioebbobobomoooooobo 250000
gbobodbooobuoobbooobuoobboobuoobboobuoobooobooboboon



BT

60
50 /A\ - D
3 a0 —_— S
K| / \ —OC
0
£30 /\/ L C
— N H
gzo ~
10
— O 42-
o - —EHEPM2 5
B T N S S N I T
R s A T RO M LSRN
AR AT ST AT AT AT AT AT DT R R R RY

60
50 e Dl
= 40 —
g _—C
)
&30 — E O
20 — D H 4
. — N O 3~
10 7 — O 12~
o —— R HEPM2.5
D o> 9P @ N g 9 P DD DR DD
P @ S
S FFFFEESIIIIE

ool

gb2.50000000000000

11838 (%F)

tt
w_
EC
6%

o

i 0A 258 (%)

=8
5%

NO3-
2%

NHa+
7%

Ry
4%

3%

108258 (R)

2R

20t 118380 (R)

2%

N Has
5%

gob O0b250000000000

o A h A
180
E gt
s
x 160
it
ne
40 N | W 1 L
120 15m
52m
125m
100 i i i i i i i i i i i i i i i i i i i i i i i i i i
> > N3 & & > Q > 3 ) & < el >
2o P @ a7 o N T G P P O @ o0 P o
ST S g o G ST o S T s
ER=1

o0 O0boooboobboooboon

Source * at 3540N 139.62E

Aeters AGL

BABHEE (m)

NOAA HYSPLIT MODEL
Backward trajectory ending at 0700 UTC 03 Nov 13
GDAS Meteorological Data

06 00
1103

Job 1D: 133324 Job
ource 1 lat.: 35.401667 lon.: 1

Traject
Verlical
Metsorol

18 12 06 00 18 12 06 00 18 12
11/02 11/01

Start: Wed Sep 901:4920 UTG 2015
39.618333  height: 1500 m AGL

Direction: Backward _Duralion: 72 s )
lotion Calculation Method:  Model Vertical Velocity
1 0000Z 1 Nov 2013 - GDAS1
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